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Please make sure that the printed question paper are contains 25(11+7+7)
questions.
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The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don'’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
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Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.
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General Instructions :

(Y

(i1)
(iii)
(iv)
v)

This question paper is divided into three Parts :

Part — A : Not for Profit Organizations & Partnership Accounts
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

Part — A is compulsory. Candidates have to attempt any one part
from Part — B and Part - C of their choice.

All questions are to be attempted. Marks of each question are
indicated against it.

Give answer Question Nos. 1 to 6 and 12 & 13 in 15 to 20 words
and Question Nos. 7 to 10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos. 11, 17 and 18.
T - A
PART-A
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(ST e O wEErd @)

(Not for Profit Organizations & Partnership Accounts)

1. 9 9 & JO HiT) 1

Explain General Donation.

2. FEEN 909 & o9E § 9EERl & oIyl g 9 g9 e & ¢ 1

How are mutual relation of the partners governed in the absence of
partnership deed ?

3. U & 3 ARy FFH @R ST @R fR S Hed B 1

Give two circumstances in which sacrificing ratio may be applied.

4. T F & A &R 1

Give two characteristics of 'Goodwill'.

5. 9 o ‘|’ 5:3 % UL H @1 dred g FEER 81 ‘A B B A yaw fm
T A U 4 : 3 : 2 B, Al AN IFUE A B

'P' and 'Q' are partners sharing profits in the ratio of 5 : 3. 'R’ is admitted and
the new profit & loss ratio is 4 : 3 : 2. Calculate Sacrificing Ratio.

6. TEEN B4 % GEOE 9 @ o1 B 7 1

What is mean by dissolution of partnership firm ?

7. 31 RE=R, 2016 ® T 9 H Th ARGes H AT G FHF Tl 36 TR 2 : 4
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Ui g7
Y SR A T | 14,250 | IqT 27,000
CLl| 49,500 | AiTha TR 30,000
faa WSS | 3,000 | I SR & @ WM [ 9,750
66,750 66,750

() a¥ & g& q B =7 " 1,500 B

(i) @ffed MR 31-12-2015 & ° 22,500 X 31-12-2016 H ° 48,750
2l

M- AT J9) BT

The following is the Receipts and Payments Account of an hospital for
the year ending 31st Dec., 2016 :

Receipts ' Payments

To Balance B/d 14,250 | By Salaries 27,000

To Subscriptions 49,500 | By Surgical
Instruments 30,000

To Interest on By Balance C/d 9,750
Investment 3,000

66,750 66,750

Additional informations :

(i) Subscriptions received in advance at the beginning of the year °
1,500.

(ii)) Swurgical instruments stock on 31-12-2015 has *~ 22,500 and on
31-12-2016 " 48,750.
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You are required to prepare Income and Expenditure Account for
the year 2016.

8. TR, AR A S’ 5 : 3 : 2 % NIUC H AH-BIM ded §L ABHRER oI IThl
& Gt 9T 2,00,000, °1,50,000 X °1,25,000 B d 2016 & faQ
TSl O & 10% & T 8% TIET TN a9 qomim gfafte v 4

X', 'Y' and 'Z' are partners in a firm sharing profits and losses in the
ratio of 5 : 3 : 2. Their fixed capital are ° 2,00,000; * 1,50,000 and
©1,25,000 respectively. For the year 2016 interest on capital was
credited to them @ 8% instead of 10%. Give adjusting journal entry.

o. W R F 2: 1 F oA ¥ a-A ey gL WK ¥ I o A
A & QB § AEER a9En ‘TR 25,000 G Q@ 18,000 =T &
Rie & & e @@m ‘o)’ F ot w0 ofR ‘g 8 qUeT o e 2
AMATH Sa Hfaftedr it 4
'P' and 'Q' are partners sharing profits and losses in the ratio of 2 : 1.

They admit 'R' into partnership for gth share of profits which he

acquires equally from 'P' and 'Q'. 'R' brings in cash * 25,000 as capital
and * 18,000 as goodwill. Pass Journal Entries.

10. ‘T &R ‘T 3 : 2 § @9-81M dfed §¢ WBRR &1 31 A/, 2017 & I B &
T 7 ) Ged & §, g ’RY o Rafd e gg e B 0 4

FRENIT ‘ =T
‘o’ # G | 13,800 | T HEiRET 12,000
‘o B G 7,950 | fafsanT 3,000
SRER 1,500 | 3&RK 1,500
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w6 2,250
&% & s 4,500
23,250 23,250

qfdl ¥ 39 SR Gl 8

fafarT © 2,850; w@E @WREl © 21,000; ¥R 1,350 qAT € O 2,100.
A 5% Al W o1 H Geud & T qgel Fg 300 21 agel @l qar
HIToTC|

'M' and 'N' are partners in a firm sharing profits and losses in the ratio
of 3 : 2. They decided to dissolve their firm on 31st March, 2017, when
their Balance Sheet was as under :

Liabilities ) Assets
M's Capital 13,800 | Fixed Assets 12,000
N's Capital 7,950 | Investment 3,000
Creditors 1,500 | Debtors 1,500
Stock 2,250
Cash at Bank 4,500
23,250 23,250

Realised from Assets : Investment ° 2,850; Fixed Assets ° 21,000;
Debtors * 1,350 and Stock * 2,100.

Creditors of the firm agreed to accept 5% less. Realisation
Expenses is " 300. You are required to prepare a Realisation Account.

11. 31 99, 2017 & ‘T’ SR ‘A’ 1 Rufy fgavor 39 vR & -

AT ‘ A
‘TR BT | 22,500 | G 15,000
qi’ B G | 45,000 | HHER 4,500
qrH-g @@ | 18,000 | i@ 9,000
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SREIRS 12,000 | 3T&R 60,000
AFs 9,000
97,500 97,500
‘TR g ‘aR’ H AN A 2 : 1 B 4 S H M Al W qa & % R

Hewd gU
(i) SE 15,750 TR BEH 6,750 IO BE H @G B e
(i) ‘é@’tﬁﬁ%wﬁﬁﬁ%maﬁwa@wém
(il) HHER W 5% UM dmr sm
(iv) &fh % JTHEHT 7,875 X &A1 T
I I, WERR & Qo @i qe 78 ®H B REfd e qar i
8

The Balance Sheet of 'X' and 'Y' as on 31st March, 2017 is given below :

Liabilities ' Assets
X's Capital 22,500 | Property 15,000
Y's Capital 45,000 | Furniture 4,500
P&LA/c 18,000 | Stock 9,000
Creditors 12,000 | Debtors 60,000
Cash 9,000
97,500 97,500

'X' and 'Y' sharing profits and losses in the ratio of 2 : 1. They agree to
admit 'Z' into the firm subject to the following terms and conditions :

(i) 'Z' will bring in * 15,750 of which * 6,750 will be treated as his
share of goodwill.
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13.

(8) 3608/(Set : C)

(ii)) 'Z'is entitled to %th share of profits of the firm.
(iii Furniture is to be depreciated by 5%.
(iv) Stock is to be revalued at * 7,875.

You are required to prepare Revaluation Account; Partners Capital
Account and Balance Sheet of New firm.

HYqT
OR

T G AERER & HQA Sy $ 3 R B TOF S HE B4 7
8

How would you calculate the amount payable to the representative of a
deceased partner ?

T -9
PART - B
(==t @ra e focig el @ v
(Company Accounts & Analysis of Financial Statements)
ferig freer faseiwer & @13 & e i 1
Write any two significance of Financial Statement Analysis.
o freRer faseloer | o9 /m &9ed § 7 1

What do you mean by Financial Statement Analysis ?

14. ‘T8 @ fafRe 9 2016-17 & o 1 goemd wefdia e @

% f@hl = 3,50,000
g aadl = 20,000
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RS €k = 40,000

AT € = 26,000
g @9 = 66,000

i HE AU Fd BT 4
'S M' Ltd. supplies the following informations for the accounting year
2016-17 :

Total Sales =" 3,50,000

Returns Inward =" 20,000

Stock in the beginning = * 40,000
Stock in the end of the year =" 26,000
Gross Profit for the year =" 66,000

You are required to calculate Inventory Turnover Ratio.

15. AT AT J0 SO Aqre (39 0Y) § gl Ege & ae dim 4

Mention the provisions relating call in arrear and call in advance on
shares.

16. 3T & s & H Uafe ey S9 sfsr A w Frifd B ™ & 4

Write journal entries of shares forfeiture, when the share have been
issued at discount.

17. T ffRs & Ryfy farer 59 yaR ®
FEIRET 1-1-16 |31-12-16| A | 1-1-16 |31-12-16

T Il 75,000|  75,000[3%S 7,500/ 5,400
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qH= 75,000/ 75,0003 &R 52,500 57,600
A2 @ 72,000|  73,500[&T® 37,500 33,000
ISR 54,000  61,500|9H 30,000| 45,000
TS &9 § FOT | - 30,000|%a" 75,000/ 82,500
% ¥ T 46,500|  37,500@shd 1,20,000/ 1,29,000

3,22,500| 3,52,500 3,22,500/ 3,52,500

af § ° 38,000 & aw R mm oA W UM @ omiee 1-1-16 @
40,500 AT 31-12-16 & 54,000 Tl SYH AHS JAE a0 TR HT 8l

8
The Balance Sheet of Rama Ltd. is as follows :

Liabilities 1-1-16 | 31-12-16| Assets 1-1-16 |31-12-16
Equity Capital 75,000 75,000(Cash 7,500 5,400
General Reserve 75,000 75,000|Debtors 52,500| 57,600
Profit & Loss A/c 72,000 73,500(Stock 37,500| 33,000
Current Liabilities | 54,000 61,500|Land 30,000, 45,000
Loan from Associate Building 75,000| 82,500

Company - 30,000
Loan from Bank 46,500 37,500|Machinery |1,20,000| 1,29,000
3,22,500| 3,52,500 3,22,500] 3,52,500

During the year ° 39,000 was paid as dividends. The provisions for
depreciation against Machinery as on 1-1-16 was * 40,500 and on 31-
12-16 * 54,000. You are required to prepare the Cash Flow Statement.

HYAT
3608/(Set : C)



WWW.NEWJOBSINFO.IN


(11) 3608/(Set : C)

Ahe JaTE fexor & @41 3w & ? 8

What are the uses of preparing a Cash Flow Statement ?

18. = aRfEfedl § 3,000, 12% FO@ ° 10 §9E aW & e H SR

BT Bl JE&Ib H IO 4, 4
(2) ROHE H AMEA FHE W 50 g 10% TEeHR e #F aRed wh
ERIERI

(b) TG T MET 10% HFHFT W 100 It goar it § aRaas e
TqHAT 3T 20% Mg ) frifag fee

Pass necessary journal entries in the books of the Company in the
following cases for redemption of 3,000, 12% Debentures of © 10 each

issued at par :

(a) Debentures redeemed at par by conversion into 10% preference

share of * 50 each.

(b) Debentures redeemed at a premium of 10% by conversion into

equity share of * 100 each at a premium of 20%.

HYAT

OR
FOE & M B [HfeT ®ve ffy @ aofg fikm 8

Described the Sinking Fund Method of Debentures redemption.
1 -9
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PART - C

(Fgelea uiw)

(Computerized Accounting)

12. FGHHd A F o e [y 1

Write one advantage of Computerised Accounting.

13. HYEHT q@iHT IO § A9 F1 q9ed § ¢ 1

What do you mean by Computerised Accounting System ?

14. FYET AGHT B FT AATHAC & 7 4

What are the needs of Computerized Accounting ?

15. FFYUHA EiHT JOme & R S 4

Give the features of Computerized Accounting System.

16. S[C[EH at the Back End fohde 9K & 81d & ? 4

Explain the types of Database at the Back-End.

17. ®F S & Q@R Tl & 9o i 8
Explain the different methods of preparing form.
HYql
OR
qBds HA & A faftRl @ au st 8
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Explain the different methods of Query.

18. Tesfic 71 B ? THH AT T 2,6
What is Spreadsheet ? Give its features.
HYql
OR
gesiic & IQA & au o 8

Explain the application of Spreadsheet.
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